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Topic: Method of substitution Date: 23.06.2020

Choose the correct option (1X15=15)

1. jd—xz

xA/1—(In x)?

(A) cos '(Inx)+c (B) xIn(1—x%)+c

(€©) sin'(Inx)+c (D) %cos_](lanc

f’(x)dx
2.
J (f(x))?

(A) —(f(x) " +c (B) In(f(x))+c
(€) ef™ 4¢ (D) None of these

. For which of the following functions, the substitution x> =t is
applicable?

1— x2

(C) _[x3 cos x? dx (D) None of these

(A) [x®tan~"x* dx B) | tan—‘[ 2x ]dx

2y .\J1—tan? x dx =

4, Jtanx-sec
1 - 1 -
(A) —g(l—tanzx)erc (B) g(1—tan2 X% +c

() —%(1 —tan?x)?3 +¢ (D) None of these




5_[ sin2x dx =
sin5x-sin3x

(A) Insin3x—=Insin5x+c¢

1 1
(B) —Insin3x+—Insin5x+c¢

1 1
(C) 5 Insin3x—glnsin5x+c

(D) 3Insin3x—=5Insin5x+c¢

eX
6. | ———dx=
(A) cos (e¥)+c (B) —cos '(e¥)+c

(C) cos™'(e*¥)+c (D) V1-e®* +¢

2
7. j(secx +tanx) dx =

1
(A) 2(secx+tanx)—x+c¢ (B) g(secx+tanx)3+c

(C) secx(secx+tanx)+c (D) 2(secx+tanx)+c

8. _l.x“(tan"I X+ cot™! x) dx =
X2 X
(A) —(tan'1x+cot'1x)+c (B) —(tan'1x—cot'1x)+c
52 52

JZ'X52 T

C — D
()104+ +c (D)

SEC2 X

9. J—dx=

\/tanzx+4
(A) In(tanx+\/tan2x+4)+c

1
(B) > In(tanx+\/tan2x+4)+c
1 1
(C) In(ztanx+5\/tan2x+4)+c

(D) None of these




2x-tan x
10. J x* +1

(A) (tan~'x%)2 +c (B) %(tan_' x’)? +c

(C) 2(tan_] x2)2+c (D) None of these

x* X x*
_[ T+x+—+—+—+...|dx=
21 31 4]

(A) —e* +c
(C) e *+c

cotx-tanx
j————————{m::

sect x—1
(A) cotx—x+c (B) —cotx+x+c
(C) cotx+x+c (D) —cotx—x+c

jcosx—1dxz

cosx+1

X 1 X
(A) 2tan——x+c (B) —tan——x+c¢
2 2 2

1 X X
(C) ——tan—+x+c (D) —2tan—+x+c¢
2 2 2

1
j1—sinxdx -

(A) x+cosx+c (B) 1+sinx+c
(C) secx—tanx+c (D) secx+tanx+c

j tanx dx =

secx+tanx

(A) secx+tanx—x+c (B) secx—tanx+ x+c
(C) secx+tanx+x+cC (D) —secx—tanx+x+c
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